Parts Breakdown

Item 24242

15

E 11,12,13

16




Parts Breakdown

Item 24242

Item No.

61483

61484

61485

61486

61487

61488

61489

61490

Description
Handle for Potato Cutter for 24242

Hex Bolt M6x38 for Potato Cutter for
24242

Tightening Nut M6 for Potato Cutter
for 24242

Hex Nut M8 for Potato Cutter for 24242

M Support for Potato Cutter for 24242

Board for Potato Cutter for 24242

Hex Bolt M10x135 for Potato Cutter
for 24242

Hex Nut M10 for Potato Cutter for 24242

Position

1

Item No.

61491

61492

61493

61494

61495

61496

61497

79585

Description

Connecting Rod for Potato Cutter for
24242

Connecting Screw Rod for Potato Cutter
for 24242

Guide Frame for Potato Cutter for 24242

Half-Round Screw M8x24 for Potato
Cutter for 24242

Lightened Spring Washer 8 for Potato
Cutter for 24242

Bush Board for Potato Cutter for 24242

Square Frame Support for Potato Cutter
for 24242

Butterfly Nut for 24242

Position

9

10

1"

Item No.

61498

61499

61500

24244

61501

61502

Description

Sunk Screw M3x8 for Potato Cutter
for 24242

Blade Plate for Potato Cutter for 24242
Blade Support for Potato Cutter for
24242

Blade and Pusher for Potato Cutter 3/8”
for 24242

Connecting Rod for Potato Cutter for
24242

Half-Round Screw M5x10 for Potato
Cutter for 24242

Position

20

21

22



